Math 141 Spring 2016

3.6 Trigonometric Functions

Rules so far...
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Theorem 3.6.1 (New Rules). Derivatives of Trigonometric Functions
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Why is a‘-’;; sin(z) = cos(z)?

Graphically:
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Example 3.6.1. Verify £ cot(x) ——cscz(:c)
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Example 3.6.2. Compute the derivative of f(8) = 6 tan(9).
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Example 3.6.4. Find 4 (Qs((t) —cos(t)) = dge (O ton( €]+ Tsm (€)cos(

C% Cos (€)= Ec-f; cos(¥)coslt/

= ~smlt) eoslt) — slt)cosk)
S -~ Y s fessC

Jof 4



Math 141 Spring 2016

Example 3.6.5. Find the equation of the tangent line to y = n(t)(t) att = %.
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Example 3.6.6. f(z) =sin(z). What is {199 (z)?
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